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groups of 3, so the connections
also have a connection.

Each word in the ladder is formed by changing one
letter in the word above and rearranging the letters.

campaign SHAPING

cause | — Decorate
1 Wardrobe features
d ISem b _______ Plants and weeds?
door dorm _______ Twisted by age
drive new | _ Make clean
prim zoom | ——————_ Cylindrical food
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3 Fill every square in the grid with one of the two
Smith tiles shown, so that each number indicates
2 how many quarter-turns are in the curved path that
starts there. Not every path has a number at one
6 g5 end, and no path has a number at both ends.
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